Solving “Basic” Trigonometric Equations Honors Precalculus

Students will be able to solve trigonometric equations.

What steps
are needed
to solve Trig
equations?

Use Algebra techniques to isolate the Trig function:
e Add/Subtract/Multiply/Divide both sides
o By NUMBERS; NOT trig functions
e Factor
e Use the quadratic formula
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e Square root both sides

o ETC.
Then: Use an inverse trig function (sin™; cos™; tan™) to solve for the
angle(s)
(Or recognize values of trig functions from the Unit Circle)

o Often times there are many angles that are solutions ©

Example 1:
Solve 2sinx = 1 for all angle values of x on the interval[0, 21r)
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Example 2:
Solve cos2x + V3 = —cos2x for all angle values of x on the
interval[0, 2m)
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Solving “Basic” Trigonometric Equations Honors Precalculus
Students will be able to solve trigonometric equations.

Example 3: Solve 3cot?x — 1 = 0 for all values of x
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Example 4:
Solve 2sin?x — sinx — 1 = 0 for all values of x
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Solving “Basic” Trigonometric Equations
Students will be able to solve trigonometric equations.

Honors Precalculus

Example 5:
Solve v2c¢scx + 2 = 4 for all values of x
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Example 6:

4
Solve sec®x = ; for all values of x
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Solving “simple” trigonometric equations: Practice

Name | )(\Q/l AN
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Solve the following equations for x over the interval [0, 2r).

1. 2cosx+4=5
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3. tan’x-3=0
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Solve the following equations for all angle values of x.

7. 3tanx—-3=0

9. sinx—4sinx-5=0
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Solving Trigonometric Equations Name: Period:
Using Trig Identities

Solve for x over the interval [0, 2r).

1. 2cos’x+3sinx=0
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Name
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Solve each equation over [0, 2] by combining like terms. All answers must be exact in terms of pi

Period:

Practice Worksheet: Trigonometric Equations

Date:
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Solve each equation over [0, 2] with the square root method. All answers must be exact in terms of pi
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Solve each equation over [0, 2] by factoring. All answers must be exact in terms of pi.
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